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Run 4413 quartetwise, posHQ: Beam DH

—— aam laol pooHs

— LEEEf DN Entrigs: 102810 Entries: 480
— Mean: 9.4467 +/- 0.0000 Mean: 6.8272 +- 0.0013 46820
— — Laser OFF Std Dev: 0.2872 +- 0.0006 | Std Dev: 0.2805 +- 0.0009 6.827
— S0 DBV 0.2805
n | 1 1 .l pood 1 1 1 | 1 1 1 | 1 1 I 1 1 1 1 | 1 1
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Run 4413 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 105280 Entries: 46820
— Mean: 14.6105 +- 0.2076 | Mean: -0.2166 +- 0.2742
— — Laser OFF Std Dev: 67.3723 +/- 0.1468 | Std Dev: 593318 +/- 0.1938
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Run 4413 quartetwise, negHO: Beam DIN

N aami_las=Z nagHD
= LE.EE[ DN Entries: 152810 Entries: 458500
[ Mean: 8.3719 +- 0.0009 Mean: 6.8283 «- 0.0013 46820
[ — Laser OFF Std Dev: 0.2869 +- 0.0006 | Std Dev: 0.2794 +- 0.0009 6.828
= oo 0.2734
n | 1 1 l 1 1 1 | 1 1 | | | | 1 | 1 1 1 1 | | 1 1
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-------- Histogram Vars

Positive Hel (ON): 9.446687 +/- 0.000885
Negative Hel (ON): 9.371878 +/- 0.000884
Positive Hel (OFF): 6.827169 +/- 0.001296
Negative Hel (OFF): 6.828287 +/- 0.001291
-------- Sums and Diffs

On Diff: 0.074809 +/- 0.001063

Off Diff: -0.001118 +/- 0.001416
On Sum: 18.818566 +/- 0.001414
Off Sum: 13.655455 +/- 0.002166
-------- Asymmetries
On Asym: 14.489126 +/- 0.206103 (ppt)
Off Asym: -0.216608 +/- -0.274203 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 5.163110 +/- 0.002587
BkSub Asym: 14.705733 +/- 0.343024 (ppt)
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Run 4413 quartetwise, posHO vs time
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Run 4413 quartetwise, negHO vs time
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Run 4413 quartetwise, bcm vs time
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